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1. Attempt all questions.
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(1) Differentiate Instruction Code V/S Operation Code

(2) Differentiate Interrupt cycle V/S Instruction cycle

Classify types of instructions in basic computer organization and
explain any one in detail

Explain arithmetic shift and logical shift instruction

What is cache memory? Explain direct mapping of cache memory.
OR

Explain 4 bit binary adder with block diagram

Define following term: (1) Micro operation (2) Micro Instruction (3)
Micro Program and (4) Micro Code
Explain the instruction format of micro instruction with its fields
OR
Using symbols and binary code for micro instruciton field give the
9-bit micro operation field for the following micro operations
(1) AC& AC+1, DR€ DR+1
(2) PC&< PC+1, DR< M[AR]
(3) DR< AC, AC< DR
Explain the difference between Hard wired control and micro
programmed control. Is it possible to have a hard wired control
associated with a control memory ?
Explain Memory interleaving
Convert following arithmetic expressions from infix into reverse
polish notation (1) (A-B)+C*A+B (2) (B*C/D)/(D/C*E)
OR
What is Pipeline Architecture? Explain in detail.
Explain different addressing modes

Explain 0 Address, 1 Address, 2 Address, 3 Address instructions

with example.

Explain with diagram the function of Input Output Processor (IOP)
OR

A micro computer system use a RAM chip of 1K X 8 and ROM chip

of 2K X 8 size. The system needs 4K RAM and 8K ROM

(1) How many RAM and ROM chips are required ?

(2) How many address lines needed to decode for RAM and ROM

chips? (3) Write the memory address map for the micro processor.

Differentiate programmed I/O V/S interrupt initiative /O
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(1) AC& AC+1, DR€ DR+1

(2) PC€ PC+1, DR M[AR]

(3) DR€ AC, AC€< DR
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(1) (A-B)+C*A+B (2) (B*C/D)/(D/C*E)
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